https://doi.org/10.29309/TPMJ/2020.27.11.4677

Load and configuration of ocular trauma in pediatric patients of a Tertiary Care Hospital in Mirpur Azad Kashmir.

Umair Tariq Mirza¹, Muhammad Luqman Ali Bahoo², Kanwal Ijaz³

ABSTRACT... Objectives: This study aims to determine the epidemiology of ocular trauma in the pediatric age group, with its risk factors and consequences, visiting a Tertiary care Hospital in Mirpur Azad Kashmir. Study Design: Cross Sectional Observational study. Setting: Department of Ophthalmology at Mohammadi Teaching Hospital, Mohiuddin Islamic Medical College, Mirpur Azad Kashmir. Period: June 2016 and April 2017. Material & Methods: A cross sectional observational study was conducted in our hospital on children aged 0-10 years presenting with ocular trauma in Eye Out Patient Department. Results: Of total 40 patients most common age of presentation was 5 and 8 years. Males (72.5%) were more than females (27.5%). Out of total patients, 27 (67.5%) presented with closed globe injury as compared to open globe. Among the closed globe injury most common trauma was with wood followed by stick and fall. In cases of open globe injury, trauma with wood and scissor were common causes. Home was the most common place of injury (20 cases/ 50%), followed by park, road and school. Most frequent cause of admission and type of injury was corneal ulcer. Conclusion: Children susceptible to ocular trauma are commonly males at ages 5 and 8 years. They should not be left unsupervised even at home. Objects like wood, stick and scissors etc. should be out of reach of children. Immediate comprehensive primary management and secondary rehabilitation are mandatory in these cases.

Key words: Acquired Blindness, Epidemiology, Ocular Trauma, Visual Acuity.
Article Citation: Mirza UT, Bahoo MLA, Ijaz K. Load and configuration of ocular trauma in pediatric patients of a tertiary care hospital in Mirpur Azad Kashmir. Professional Med J 2020; 27(11):2492-2498.

https://doi.org/10.29309/TPMJ/2020.27.11.4677

INTRODUCTION

One of the most significant cause of ocular disability in children is ocular trauma which possibly can be avoidable.¹ Children often have less coordination, reduced ability to operate accurately, lessened emotional control, and deficient awareness for self-protection as compared to adults. The children suffers from monocular visual disability and non-congenital unilateral blindness mainly as a result of ocular trauma.² Every year almost 160,000 to 280,000 children who are under 15 years of age are admitted in hospital due to ocular trauma.¹ The reported incidence of pediatric ocular trauma is 6.8 to 15.2 per 100,000 in the United States and other developed countries of the world.3,4 However, reported incidence of ocular trauma in children below 15 years is slightly on higher side in developing countries. A study done in Nepal

reported the incidence of ocular trauma to be 300/100,000 per year⁵ and 13% of ocular blindness was caused by ocular trauma in east Africa.6 Ocular trauma leads to multiple visits of hospital.⁷ Due to ocular injuries, people experience a lot of financial and social burden.8 Secondary to ocular injuries, there is ample and often redundant burden owing to obligatory medical care, rehabilitation services, long-term disability and loss of productivity.⁹ Diversity of settings in which eye injuries can happen has been seen like while playing in home or outside, at work or as a result of assault or accident.⁵ Ocular injuries in this age group are often more serious.¹ Up to 90 % of the injuries to the eyes can be avoided only by taking simple measures which can significantly reduce the burden of ocular injuries¹⁰ and subsequently proper management of ocular injuries can lessen the burden of blindness as well.¹¹ Although, it's an

Mohi-ud-Din Teaching Hospital, Mirpur Azad Kashmir. 2. MBBS, FCPS, FICO, FACS Fellowship Refractive and Cornea Surgery, Associate Professor, Chairman Cornea Unit & Head Ophthalmology department. Shaida Islam Medical and Dental

1. MBBS, FCPS, FRCS

College, Lodhran. 3. MBBS, M.Phil (Physiology) Assistant Professor Physiology Azra Naheed Medical and Dental College, Lahore.

Assistant Professor Ophthalmology

Correspondence Address: Dr. Kanwal Ijaz Department of Physiology Azra Naheed Medical and Dental College, Lahore. drkanwal81@yahoo.com

Article received on: 26/03/2020 Accepted for publication: 06/07/2020 important public health problem, there is relatively less population- based data related to the extent and risk factors for ocular trauma, especially from developing countries.¹²

Keeping in view the perspective of public health and injury prevention, estimation of the frequency and variety of these injuries in this age group can be beneficial in minimizing the ocular trauma by targeted educational and legislative efforts.²

Local population data about ocular trauma in children is inadequate in terms of etiology, setting, extent of injury, pattern of injury and management strategies. Aim of the study was to know the epidemiology and complications of the ocular injuries in Mirpur Azad Kashmir. Adequate data about cause and pattern of trauma would help to device strategies for prevention and management of this devastating ailment. Proper resource allocation for the prevention and treatment of ocular injuries can be planned according to burden of ocular injuries in the region.

MATERIAL & METHODS

A cross sectional observational study was conducted in Ophthalmology department of Mohammadi Teaching Hospital, Mohiuddin Islamic Medical College, Mirpur Azad Kashmir on children aged 0-10 years between June 2016 and April 2017, after approval of ethical review board. All the patients presenting with ocular trauma in Eye Out Patient Department were recruited in the study after the informed consent. Various epidemiological demographic parameters like age, sex distribution as well as other like place at the time of injury, time passed since injury, mode of injury, causative object and nature of injury were recorded in already designed structured Performa.

Birmingham eye trauma terminology was used to group the ocular injuries¹³ naming closed globe which included contusion and laceration and open globe injuries which included laceration and rupture. Periorbital and adnexa injuries were also recorded. Snellen's chart was used for estimation of Visual acuity. On Slit lamp examination, detailed examination of eye and fundus assessment with 90D Lens was done.

The recorded data were entered in excel and 23rd version of SPSS was used for statistical analysis. Percentages and frequencies were used for the epidemiological parameters.

RESULTS

In this study 40 eyes of 40 patients were studied during a period of June 2016 and April 2017. Mean age of patients was 6.4 ± 1.5 years, ranging from 1 to 10 years. Most frequent injuries were at the age 5 and 8 years (Figure-1) Trauma was more in males (72.5%) than in females (27.5%). 50 % of the all ocular injuries occurred at home followed by 35% at park, 5 % on road side and 10% in school. The distribution of all cases according to place of injury and gender is given in Table-I.

Most common nature of injury was projectile (45%), others were house hold (27.5%), fall (10%), blunt (7.5%), chemical (5%), sports (2.5%) and assault (2.5%) (Figure-2). The distribution of nature of injury in relation to mode of trauma is given in Table-II.

As per early seeking of treatment, 42.50% eye injuries were reported between 24 hours to 7 days, 35% of cases were between 6 to 24 hours and remaining 22.50% eye injuries reported in less than 6 hours (Figure-3).

Regarding the mode of injury, 25 eyes (62.5%) presented with closed globe injuries where object of trauma was wood in 14.81% followed by stick, wire, stone, fruit seed, unknown, viper, spoon, shoe heal, plastic pen, knife, fire cracker, finger, bed edge and ball. 30% of closed globe injuries occurred in home while 20% in park. Open globe injuries presented in 27.5% where most trauma was secondary to wood (18.18%) and Scissor (18.18%) followed by syringe, stone, stick, knife, glass piece, fruit seed and door handle. 17.5% of the open globe injuries occurred at home while 10% happened in park. (Table-III). There were only 4 (10%) cases of adnexal injuries in which objects were dust, fire cracker, fall and ball.

Severe visual loss, that is visual acuity of < 6/60,

occurred mostly with open globe injury that is 20% (8 cases) followed by 15% cases with close globe injury (6 cases). (Table-IV)

Closed globe injuries presented with corneal ulcer in most of the cases (17.5%) while others were conjunctival hemorrhage (12.5%), cataract (10%), hyphema (7.5%), uveitis (5%), corneal abrasion (5%), conjunctivitis (2.5%) and conjunctival foreign body (2.5%). In open globe injuries, most frequent presentation was corneal tear (12.5%) followed by cataract (5%), corneal ulcer (5%), sclera perforation (2.5%) and uveal prolapsed



(2.5%). Among adnexal injuries, 7.5 % patients came with eyelid laceration and remaining 2.5% were having conjunctivitis (Table-V) Out of all patients with ocular trauma, 77.5 % cases required admission while remaining 22.5% were treated as outpatient. Surgery for cataract, corneoscleral tear and eyelid laceration was performed in 32% of cases where most commonly open globe injury (22.5%) was the reason while closed globe injury represented 10 % cases admitted for surgery. (Table-VI).



Figure-2. Frequency of cases in relation to nature of injury.

	GEN	Tatal			
Place of Injury	Females	Males	Total		
House	8 (20%)	12 (30%)	20 (50%)		
Park		14 (35%)	14 (35%)		
Road		2 (5%)	2 (5%)		
School	3 (7.5%)	1 (2.5%)	4 (10%)		
Grand total	11 (27.5%)	29 (72.5%)	40 (100%)		
Table-I. Place of injury in relation to sex.					

Nature of injury	MODE OF TRAUMA			
	Adnexal	Closed Globe	Open Globe	Grand Total
Accidental Fall	1 (2.50%)	3 (7.50%)		4 (10.00%)
Assault		1 (2.50%)		1 (2.50%)
Blunt		3 (7.50%)		3 (7.50%)
Chemical		1 (2.50%)	1 (2.50%)	2 (5.00%)
Household		5 (12.50%)	6 (15.00%)	11 (27.50%)
Projectile	2 (5.00%)	12 (30.00%)	4 (10.00%)	18 (45.00%)
Sports	1 (2.50%)			1 (2.50%)
Grand Total	4 (10.00%)	25 (62.50%)	11 (27.50%)	40 (100.00%)
	Table-II. Natu	re of injury in relation	to mode of trauma.	

OCULAR TRAUMA

1 (2.50%)	2 (5.00%)	1 (2.50%) 1 (2.50%) 1 (2.50%) 1 (2.50%) 3 (7.50%) 1 (2.50%) 1 (2.50%) 3 (7.50%) 1 (2.50%) 2 (5.00%) 1 (2.50%) 2 (5.00%)
1 (2.50%)		1 (2.50%) 1 (2.50%) 3 (7.50%) 1 (2.50%) 1 (2.50%) 3 (7.50%) 1 (2.50%) 2 (5.00%) 1 (2.50%)
1 (2.50%)		1 (2.50%) 3 (7.50%) 1 (2.50%) 3 (7.50%) 3 (7.50%) 1 (2.50%) 2 (5.00%) 1 (2.50%)
1 (2.50%)		3 (7.50%) 1 (2.50%) 1 (2.50%) 3 (7.50%) 1 (2.50%) 2 (5.00%) 1 (2.50%) 1 (2.50%)
1 (2.50%)		1 (2.50%) 1 (2.50%) 3 (7.50%) 1 (2.50%) 2 (5.00%) 1 (2.50%)
1 (2.50%)	1 (2.50%)	1 (2.50%) 3 (7.50%) 1 (2.50%) 2 (5.00%) 1 (2.50%)
1 (2.50%)	1 (2.50%)	3 (7.50%) 1 (2.50%) 2 (5.00%) 1 (2.50%)
	1 (2.50%)	1 (2.50%) 2 (5.00%) 1 (2.50%)
	1 (2.50%)	2 (5.00%) 1 (2.50%)
	1 (2.50%)	1 (2.50%)
	1 (2.50%)	i i i i i i i i i i i i i i i i i i i
		0 (5 000()
		2 (5.00%)
		1 (2.50%)
		1 (2.50%)
		4 (10.00%)
		3 (7.50%)
		1 (2.50%)
	1 (2.50%)	2 (5.00%)
		1 (2.50%)
1 (2.50%)		2 (5.00%)
		7 (17.50%)
2 (5.00%)	4 (10.00%)	40 (100.00%)
	2 (5.00%)	1 (2.50%)

Mode of Injury	6/18-3/60	6/18-6/6	<6/60	Grand Total	
Adnexal		4 (10%)		4 (10.00%)	
Closed Globe	9 (22.50%)	10 (25.00%)	6 (15.00%)	25 (62.50%)	
Open Globe	2 (5.00%)	1 (2.50%)	8 (20.00%)	11 (27.50%)	
Grand Total	11 (27.50%)	14 (35.00%)	15 (37.50%)	40 (100.00%)	

Table-IV. Severity of visual loss in relation to mode of injury.

Adnexal	Closed Globe	Open Globe	Grand Total
	4 (10.00%)	2 (5.00%)	6 (15.00%)
	5 (12.50%)		5 (12.50%)
1 (2.50%)	1 (2.50%)		2 (5.00%)
	2 (5.00%)		2 (5.00%)
	7 (17.50%)	2 (5.00%)	9 (22.50%)
	1 (2.50%)		1 (2.50%)
	3 (7.50%)		3 (7.50%)
3 (7.50%)			3 (7.50%)
		5 (12.50%)	5 (12.50%)
		1 (2.50%)	1 (2.50%)
		1 (2.50%)	1 (2.50%)
	2 (5.00%)		2 (5.00%)
4 (10.00%)	25 (62.50%)	11 (27.50%)	40 (100.00%)
	1 (2.50%) 3 (7.50%)	4 (10.00%) 5 (12.50%) 1 (2.50%) 2 (5.00%) 7 (17.50%) 1 (2.50%) 3 (7.50%) 3 (7.50%) 2 (5.00%) 2 (5.00%) 2 (5.00%) 2 (5.00%)	4 (10.00%) 2 (5.00%) 1 (2.50%) 5 (12.50%) 1 (2.50%) 1 (2.50%) 2 (5.00%) 2 (5.00%) 7 (17.50%) 2 (5.00%) 1 (2.50%) 3 (7.50%) 3 (7.50%) 5 (12.50%) 1 (2.50%) 1 (2.50%) 1 (2.50%) 1 (2.50%) 2 (5.00%) 1 (2.50%) 2 (5.00%) 1 (2.50%)

iyp

www.theprofesional.com

Treatments	Adnexal	Closed Globe	Open Globe	Grand Total	
Admitted for Medical purpose	3 (7.50%)	13 (32.50%)	2 (5.00%)	18 (45.00%)	
Admitted for Surgery		4 (10.00%)	9 (22.50%)	13 (32.50%)	
As outdoor patient	1 (2.50%)	8 (20.00%)		9 (22.50%)	
Grand Total	4 (10.00%)	25 (62.50%)	11 (27.50%)	40 (100.00%)	
Table VI Treatments given in volation to made of injury					

Table-VI. Treatments given in relation to mode of injury



DISCUSSION

Ocular trauma is one of the preventable causes of visual impairment and blindness.¹⁴

Forty patients having ocular trauma were included in this study. Our study reported the vulnerable age was between 5-8 years. Cao et al. 2013 also reported that the most vulnerable age for having ocular trauma is below 11 years.² Young age group is more prone to get ocular trauma may be due to their increased risk taking conduct and dynamic life style.¹⁵ Primary school children are more susceptible than the other aged group, though they are comparatively mature then the preschool aged children, but this susceptible age group is slightly more independent which may make them more vulnerable.²

Moreover, boys outnumbered the girls. In conation with our findings other studies also reported that in patients affected with ocular trauma majority are male.^{2,16} Male children are indulged more in outdoor activity with increase susceptibility to ocular trauma.

Our study reported that predominant type of injury was closed globe followed by open angle

similar to other studies.¹⁷ In closed angle type of injury the most common mode of trauma was projectile and object was wood in majority of the case. Similarly, open globe injury happened mostly due to wood.

In our study in both types of ocular injury i.e. open globe and closed globe the most frequent location of injury was at home similar to other studies.² A potential explanation for the higher risk at home might be that due to the fact that the toys or domestic utensils can be found in any home, which imposes potential danger for children. Sharp objects like knives and scissors, toys and bullets remained the leading agents of the home-related eye injuries according to the recorded injury causes.¹⁸ Moreover, due to inadequate adoption of safety measures during common house hold activities may be reason for majority of ocular trauma in women and children at home.¹⁵

Majority of the cases presented in the eye department after 24 hours. Our finding is comparable to other studies.¹⁴ However, only few cases presented within 6 hours of receiving an injury.

Severe visual loss, that is visual acuity of < 6/60, occurred mostly and was found more in patients with open globe injury followed by close globe injury. Different studies reported different pattern of visual loss ranging from good visual acuity¹⁶ to severe visual loss at the time of presentation.¹⁵

This difference in pattern is possibly be attributed to difference in severity of ocular trauma as well as due to difference in inclusion criteria of visiting patients. In our study most of the visited patients required admission for different treatment modalities like for medical purpose or for surgery etc.

CONCLUSION

Pediatric ocular trauma is common in males of age group 5 to 8 years. The frequent type of injury was closed globe which mostly occurred at homes with wood. Ocular injuries resulted in substantial visual loss at the time of presentation

LIMITATIONS

Small sample size which may not be true representative of population as well as patients from high socioeconomic strata were unlikely to come to public hospital.

RECOMMENDATIONS

Further researches are needed to study the impact of health education on adaption of safety measures in preventing ocular trauma and also it will help in establishing preventive and management strategies to cope with ocular trauma.

Copyright© 06 July, 2020.

REFERENCES

- 1. Abott J, shah P, **The epidemiology etiology of pediatric ocular trauma.** Surv Ophthalmol. 2013 Sep-Oct; 58(5):476-85.
- 2. Cao H, Li L, Zhang M, Li H (2013) Epidemiology of Pediatric Ocular Trauma in the Chaoshan Region, China, 2001–2010. PLoS ONE 8(4): e60844.
- 3. Brophy M, Sinclair SA, Hostetler SG, Xiang H **Pediatric** eye injury-related hospitalizations in the United States. Pediatrics. 2006 Jun; 117(6):e1263-71.
- Desai P, MacEwen CJ, Baines P, Minassian DC. Epidemiology and implications of ocular trauma admitted to hospital in Scotland. J Epidemiol Community Health. 1996 Aug; 50(4): 436–441. doi: 10.1136/jech.50.4.436.
- Khatry SK, Lewis AE, Schein OD, Thapa MD, Pradhan EK, Katz J. The epidemiology of ocular trauma in rural Nepal. Br J Ophthalmol. 2004 Apr; 88(4):456-60.

- J C Sherwin, W H Dean, and N Metcalfe. Screening for childhood blindness and visual impairment in a secondary school in rural Malawi, Eye (Lond). 2011 Feb; 25(2): 256–257.
- 7. Babar TF, Khan MN, Jan S, et al. Frequency and causes of bilateral ocular trauma. JCPSP. 2007; 17: 679-82
- Bahoo MLA, Jamil AZ, Khalid MS. Ocular surface foreign bodies and their association with profession. PJMHS. 2018; 12 (2): 495-8.
- 9. Negrel AD, Thylefors B. **The global impact of eye** injuries. Ophthalmic Epidemiol. 1998; 5143-169.
- Serrano JC, Chalela P, Arias JD. Epidemiology of Childhood Ocular Trauma in a Northeastern Colombian Region. Arch Ophthalmol. 2003; 121(10):1439–1445. doi:10.1001/archopht.121.10.1439.
- Pandita A, Merriman M. Ocular trauma epidemiology: 10-year retrospective study. N Z Med J. 2012; 125: 61-9.
- Vats S¹, Murthy GV, Chandra M, Gupta SK, Vashist P, Gogoi M. Epidemiological study of ocular trauma in an urban slum population in Delhi, India. Indian J Ophthalmol. 2008 Jul-Aug; 56(4):313-6.
- Kuhn F, Morris R, Witherspoon D, et al. A standardized classification of ocular trauma. Ophthalmology, 1996; 103: 204-3.
- 14. Godar ST, Kaini KR, Amatya P, Joshi K, Singh L. Magnitude of ocular trauma in a tertiary care hospital of western Nepal. NJMS. 2013; 2 (2): 140-3.
- Bahoo MLA, Jamil AZ, Karamat B. Frequency and Characteristics of Ocular Trauma in a Tertiary Care Hospital in Lodhran. Pak J Ophthalmol 2019, Vol. 35, No. 2.
- 16. Sengupta P, Mazumdar M, Gyatsho J. Epidemiology of ocular trauma cases presenting to a tertiary care hospital in a rural area in West Bengal, India over a period of 2 years. IOSR-JDMS. 2016; 15: 92-7
- Oum BS, Lee JS, Han YS. Clinical features of Ocular Trauma in Emergency Department. Korean J Ophthalmol. 2004; 18: 70-8.
- Cao H, Li L, Zhang M. Epidemiology of patients hospitalized for ocular trauma in the chaoshan region of china, 2001–2010. PLoS One. 7(10): e48377.

AUTHORSHIP AND CONTRIBUTION DECLARATION

Sr. #	Author(s) Full Name	Contribution to the paper	Author(s) Signature
1	Umair Tariq Mirza	Acquisition of data, Manuscript design and concept.	Creir
2	M. Luqman Ali Bahoo	Critical review and analysis of data.	
3	Kanwal Ijaz	Drafting of article, Interpretation of data, Literature review.	14-1 974